Efficiency vs P,

— 0.2F T T
2 F : : :
L 0.18F -t o RREEEEEEEEE
> E : : :
S 0.16f--------meieeeeeeee [ AR
9] F * : : :
o o . . .
50-14_—"'+""'; """""" prrrrrey S
) 3 : : :
0.12_—------#---2 ------------ L REEE R R RS RRECEEEEEEE
R S P R
0.08F 4---vrrrrnennee — —
0,06 -+-++++rfeeeeeee o S
004 - g o S
0.02F------rvineneeee ------------- ------------

1L .
) |

Ratio

—=#— DQM_CKF_XiMinusNOPU_base

—— DQM_CKF_XiMinusNOPU_retrainOldFiles125_v2_prelimWPM_epochl

= 0.2¢
lg C
~0.18f
‘(-:) r
§0.16F
(8] L
£0.14F-
(] r
0.12F -+
2 SRy
0.08F -4t §
0.06f -




	Contents
	Page 1


